M8 - 3.1 - Estimating Square/Roots HW

Number Line!

Vo V1
| |
! !
0 1 3 4 5 6 7 8 9 10

Vi V3 V6 I5 V3 A VeE VBT 00
|
2

Estimate the square root of 41.

Check on V36 Ji9

Calculator! | Va1 |
Va1l = ! I
41 = 6.403 6 7

Estimate the square root of the given number to one decimal place.
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Estimate the square of 6.2.
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Calculator!

|
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6 7 6.2%2 = 38.44

Estimate the square of the given number to two decimal places.
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Estimate the square root.

V50 = V40 = V81 = V35 =
J6i = V77 = V20 = V0.81 =

Estimate the following squares.(Whose square root is the number?)

3.1% = 3.52% = 5.6% = 8.4% =

7.6% = 152 = 262 = 2.2% =
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